
10 Ft. Cantilever Hanging Patio
Umbrella

DESIGNED IN CALIFORNIA



THANK YOU!

Sign up here:
 

JOIN THE WESTINTRENDS COMMUNITY

QUESTIONS OR COMMENTS?

PRODUCT REGISTRATION

FOLLOW, SHARE, & LEARN

ACCESSIBILITY - COMMUNITY - VALUE - SUSTAINABILITY



CARE & MAINTENANCE

HARDWARE

TOOLS REQUIRED

Page 1 of 5

1

4 PCS

1 PC

1 PC

1 PC

1 PC

2

4 PCS

3

2 PCS

SHORT BOLT M8 WASHER STAR HEAD BOLT

WRENCH

Clean with lukewarm water, mild detergent & sponge.

Wipe down aluminum pole with damp cloth.

When not in use, cover the umbrella with a protective cover, then store it in a clean, dry,
and cool place like a garage or shed to prevent damage and mold.

SAFETY PRECAUTIONS

Hardware #3 Star Head Bolt

PARTS

A UMBRELLA BODY EXTEND POLEB

C CROSS BASE CROSS BASED



PRODUCT ASSEMBLY

Place Part C and D Cross Base Part B Extend Pole to Part D Cross Base
Hardware #1 Short Bolt and Hardware #2 M8 Washer.

Part B Extend Pole to Part C Cross Base Hardware #1 Short Bolt
and Hardware #2 M8 Washer.

1

PRODUCT ASSEMBLY

Now you can pull up the umbrella body upward.

2

Page 2 of 5

B

D

C

C
1
2

1

2
3 4

1
2

1
2

1
2

a



PRODUCT ASSEMBLY

Part A Umbrella Body to Part B Extend Pole
Hardware #3 Star Head Bolt3

PRODUCT ASSEMBLY

△

UNLOCK

4

Page 3 of 5

3

3
B

a

b



PRODUCT ASSEMBLY

5

PRODUCT ASSEMBLY

6

Page 4 of 5

UP

DPWN

LOCK

clockwise
counter



PRODUCT ASSEMBLY

7

PRODUCT ASSEMBLY

8

Page 5 of 5



REGISTRATION & REFUND POLICY

HAVING TROUBLE

CLEANING TIPS

•  

 

CLEANING TIPS

QUICK CLEAN: Wipe with a damp towel.

REGULAR CLEAN: 
rainy weather to extend the service life of the product. Choose a 
proper weight base to prevent the umbrella from falling over and 
causing damage. Use a mixture of warm water and mild soap, 

dirt or stains. Wipe the umbrella stand with a damp towel.


